
����� 4 

����	
���� 

 

 ���������	
	���
����������������
��
����������
���������
���� ��!�"��#$��%!	

&����$�!'�()�
�����
&����%�!� (Foreign Direct Investment or FDI) ()�����
�!��
��������
��!�"�����*�����	
	�����%��	)��� �+$�&����#$,
 
-.���$��� ��*���%�!�
�	/���
�� (Gross Domestic Product or GDP), �

��0$���$�"����,�
��!�"0!���,� (Real Exchange 

Rate or REXR), �

����,��12� ��*���%�!�()������	�!��	 (Relative Inflation or RIFL), �

��
)���	�����,��+� ��*���%�!�()������	�!��	 (Relative Loan Rate or RLR) 0$% �+$�&�������
�&���� (Export or EXP)  

 �3���
	���������������	
	����%*4��+�0		�����
��
���0		 log-log linear �
���/�  

 

lnFDI t = �0 + �1lnGDP t + �2lnREXR t + �3lnRIFL t + �4lnRLR t + �5lnEXP t + � t 

()�!�"  
 FDI t = ��,�$�!'�()�
�����
&����%�!� ��&�� US$ 

GDP t = �+$�&����#$,
 
-.���$��� ��*���%�!��	/���
�� ��&�� US$ 

REXR t = �

��0$���$�"����,�
��!�"0!���,� 

 RIFL t = �

����,��12� ��*���%�!�()������	�!��	 

 RLR t = �

��)���	�����,��+� ��*���%�!�()������	�!��	 

 EXP t = �+$�&��������&�������0
&$%��%�!� ��&�� US$ 

 � t = �&������$�)��$/"�� 

�t = 0�)�5������$%��������$�"��0�$� ��/"�

�0���,��%��$�"��0�$�6� �%
��#$
&������$�"��0�$�������$�!'�����$%�!&�*) ��/"� t �/� 4&����$�
&�� 7 

���!)��	!��������,
,*������������
��
��)
���� 
1. !)��	�'-��	

,���

�0��!�"*4�*����������&���$
��-% Stationary ��/�6�& 

()� Unit Root Test 

2. !)��	�����
��
����%�%����%��&��

�0��!�"*4�*����������&��������
��
���
�4,�)'$� ���%�%�����/�6�& (Cointegration) )����,�� Johansen 
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3. ����� Error Correction Model ��/"���,	�������
	

�*��%�%�
�����

�0�� ��/"�
�$
	�����+&)'$� ���%�%���  ()�#$�������������50�)�6)�)
����  

4.1 ����	�
���������������������
����������	�� (Unit Root Test)  

 ��/"�����*�����������
�����6)�!3�����,����%��#$��%!	!�"��,)��������$�"��0�$����
����
�!��)�����������
���� ��0$%

�0��
��!�"*4�*��������� ��8�����
�
&���
���%��	6�
)����+$�&����$�!'�()�
�����
&����%�!� (FDI) ()�����
�!����������
��!�"�����*�����	
	
�����%��	)��� �+$�&����#$,
 
-.���$��� ��*���%�!��	/���
�� (GDP), �

��0$���$�"��
��,�
��!�"0!���,� (REXR), �

����,��12� ��*���%�!�()������	�!��	 (RIFL), �

��)���	�����,��+�
 ��*���%�!�()������	�!��	 (RLR) 0$% �+$�&��������&���� (EXP) ��������*���
�����������
�3���8�!�"�%
���!3����!)��	�����,"����

�0��*�0
&$%��%�!� !
����%�!�6!�, ���$�9�� 0$% 

1:$��:��� 9�"�#$���!)��	�����,"����

�0�������50�)���8���-�
&��7 )
���� 
 

4.1.1 �	������	���
!�� 

 

"�	����� 4.1 #�
������	�
��� Unit Root Test ����	���
!�� 

 

Variables Stationary Lag ADF T-Statistic Mackinnon one-side-p-value 

1% 5% 10% 

ln(FDI) I(1) 1 -11.75938(0.00000) -2.627238 -1.949856 -1.611469 

ln(GDP) I(1) 1 -6.012695(0.0000) -2.627238 -1.949856 -1.611469 

ln(REXR) I(1) 1 -6.982389(0.0000) -2.627238 -1.949856 -1.611469 

ln(RLR) I(1) 1 -4.278337(0.0086) -4.219126 -3.533083 -3.198312 

ln(EXP) I(1) 1 -4.432866(0.0000) -2.627238 -1.949856 -1.611469 

ln(RIFL) I(1) 1 -4.877814(0.0018) -4.219126 -3.533083 -3.198312 

* !�"��  �������3���-  

 ���

)�,�*��3���
	���!)��	�����,"����

�0��)����,�� Augmented Dickey-Fuller 

Test ()��,���-��&� ADF T-Statistic ������&�������&��&���� MacKinnon Critical Value 0�)��&�
�����5�;,������
,����$
�������!)��	 �
"��/� 

�0��!�"��*�6�&�� Unit Root ��/�������
�,"� 
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 ���
����!�" 4.1 �	�&�

�0��!
����)!�"*4�*��������������%�!�6!��������,"� - 1st 

Difference��/� I(1) ()�#$����$/���+�0		���

�0��
&��7 ��8�)
���� 
� $����,�������4�
,����+$�&���,�$�!'�()�
�����
&����%!� ��/� ln(FDI) ��8�

0		�'&�!�"��������')

)0��0$%�&�0��(�����$� (Random Walk Process)  

� $����,�������4�
,����+$�&����#$,
 
-.���$��� ��*���%�!��	/���
�� ��/� 

ln(GDP) ��8�0		�'&�!�"���')

)0�� (Random Walk with drift) 

� $����,�������4�
,����

��0$���$�"����,�
��!�"0!���,� ��/� ln(REXR) ��8�
0		�'&�!�"��������')

)0��0$%�&�0��(�����$� (Random Walk Process)  

� $����,�������4�
,����

����,��12� ��*���%�!�()������	�!��	 ��/� 

ln(RIFL) ��8�0		�'&�!�"���')

)0��0$%�&�0��(�����$� (Random Walk with 

drift 0$%�� linear time trend) 

� $����,�������4�
,����

��)���	�����,��+� ��*���%�!�()������	�!��	 ��/� 

ln(RLR) ��8�0		�'&�!�"���')

)0��0$%�&�0��(�����$� (Random Walk with 

drift 0$%�� linear time trend) 

� $����,�������4�
,����+$�&��������&���� ��/� ln(EXP) ��8�0		�'&�!�"
��������')

)0��0$%�&�0��(�����$� (Random Walk Process) 

)
��
��#$���!)��	�����,"����

�0��!�"*4�*��������� ��-������%�!�6!�������
�,"� - 1st Difference ��/� I(1) 0$%�%�3�6�!)��	)'$� ���%�%���
&�6� 

 

4.1.2 �	������	���
�����$�� 

     "�	����� 4.2 #�
�����	�
��� Unit Root Test ����	���
�����$�� 

 

Variables Stationary Lag ADF Test Mackinnon one-side-p-value 

1% 5% 10% 

ln(FDI) I(1) 1  -9.183880(0.0000) -2.634731 -1.951 -1.610907 

ln(GDP) I(1) 1  -5.344054(0.0001) -3.621023 -2.943427 -2.610263 

ln(REXR) I(1) 1   -15.16010(0.0000) -2.627238 -1.949856 -1.611469 

ln(RLR) I(0) 1  -3.222789(0.0261) -3.610453 -2.938987 -2.607932 

ln(EXP) I(1) 1  -5.958876(0.0000) -2.627238 -1.949856 -1.611469 

ln(RIFL) I(2) 1  -8.671304(0.0000) -4.234972 -3.540328 -3.202445 
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 *!�"��  �������3���- 

 
����!�" 4.2 0�)�#$���!)��	�����,"����

�0��!�"*4�*�����������-���%�!�
���$�9�� ()����
���-.����

)�,�*�)
�!�"�$&������
���	�&� �

��)���	�����,��+� ��*���%�!�
()������	�!��	 ��/�ln(RLR) �������,"� - �%)
	 Level ��/� I(0) 9�"��+�0		���

�0�� �/� 

Radom Walk with drift 

 �-%!�"#$���!)��	�����,"����$����,�������4�
,����+$�&����$�!'�()�
�����

&����%�!� ��/� ln(FDI), $����,�������4�
,����+$�&����#$,
 
-.���$��� ��*���%�!�
�	/���
�� ��/� ln(GDP), $����,�������4�
,����

��0$���$�"����,�
��!�"0!���,� ��/� ln(REXR), 

0$% $����,�������4�
,����+$�&��������&���� ��/� ln(EXP) �������,"� - 1st Difference ��/� 

I(1) ()����+�0		���

�0��)
���� 
� $����,�������4�
,����+$�&���,�$�!'�()�
�����
&����%!� ��/� ln(FDI) ��8�

0		�'&�!�"��������')

)0��0$%�&�0��(�����$� (Random Walk Process) 

� $����,�������4�
,����+$�&����#$,
 
-.���$��� ��*���%�!��	/���
�� ��/� 

ln(GDP) ��8�0		�'&�!�"���')

)0�� (Random Walk with drift) 

� $����,�������4�
,����

��0$���$�"����,�
��!�"0!���,� ��/� ln(REXR) ��8�
0		�'&�!�"��������')

)0��0$%�&�0��(�����$� (Random Walk Process) 

� $����,�������4�
,����+$�&��������&���� ��/� ln(EXP) ��8�0		�'&�!�"
��������')

)0��0$%�&�0��(�����$� (Random Walk Process) 

 ���������	
��
�����������������������������������	���� ���� �� ln(RIFL) 

� 
������� ! 2nd Difference "�#� I(2) �$������%� Random Walk with drift ����  linear time 

trend 

)
��
��#$���!)��	�����,"����

�0��!�"*4�*��������� ��-������%�!����$�9��
�	�&�$����,�������4�
,����

��)���	�����,��+� ��*���%�!�()������	�!��	 ��/�ln(RLR) ��
�����,"� - �%)
	 Level ��/� I(0) �-%!�"$����,�������4�
,����+$�&����$�!'�()�
�����

&����%�!� ��/� ln(FDI), $����,�������4�
,����+$�&����#$,
 
-.���$��� ��*���%�!�
�	/���
�� ��/� ln(GDP), $����,�������4�
,����

��0$���$�"����,�
��!�"0!���,� ��/� ln(REXR), 

0$% $����,�������4�
,����+$�&��������&���� ��/� ln(EXP)�������,"� - 1st Differnce ��/� 

I(1) 0$%$����,�������4�
,����

����,��12� ��*���%�!�()������	�!��	 ln(RIFL) �������,"� 

- 2nd Difference ��/� I(2) ()�

�0��!
����)�%�3�6�!)��	)'$� ���%�%���
&�6� 
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4.13 �	������	���
%&����&��' 

 

     "�	����� 4.3 #�
�����	�
��� Unit Root Test ����	���
%&����&��' 

 

Variables Stationary Lag ADF Test Mackinnon one-side-p-value 

1% 5% 10% 

ln(FDI) I(0) 1  -4.777963(0.0004) -3.610453 -2.938987 -2.607932 

ln(GDP) I(1) 1  -8.978560(0.0000) -2.627238 -1.949856 -1.611469 

ln(REXR) I(1) 1  -3.763620(0.0069) -3.621023 -2.943427 -2.610263 

ln(RLR) I(0) 1  -2.019272(0.0429) -2.625606 -1.949609 -1.611593 

ln(EXP) I(1) 1  -4.235646(0.0100) -4.234972 -3.540328 -3.202445 

ln(RIFL) I(1) 1  -3.055875(0.0032) -2.627238 -1.949856 -1.611469 

 *!�"��  �������3���- 

 

 
����!�" 4.3 0�)�#$���!)��	�����,"����

�0��!�"*4�*�����������-���%�!�
1:$,��:��� ()����
���-.����

)�,�*�)
�!�"�$&������
���	�&� $����,�������4�
,����+$�&����
$�!'�()�
�����
&����%�!�  ��/�  ln(FDI) 0$%$����,�������4�
,���)���	��� ��,��+�
 ��*���%�!�()������	�!��	 ��/�ln(RLR) �������,"� - �%)
	 Level ��/� I(0) ()����+�0		
)
���� 

� $����,�������4�
,����+$�&���,�$�!'�()�
�����
&����%!� ��/� ln(FDI) ��8�
0		�'&�!�"���')

)0�� (Random Walk with drift) 

� $����,�������4�
,���)���	�����,��+� ��*���%�!�()������	�!��	 ��/�
ln(RLR) ��8�0		�'&�!�"��������')

)0��0$%�&�0��(�����$� (Random Walk 

Process) 

 $����,�������4�
,����$�
&����������!'(�������������������#)���*� "�#� 
ln(GDP), $����,�������4�
,�������������� ����������� ���*+��� "�#� ln(REXR), ��� $���
�,�������4�
,����$�
&�������
&���� "�#� ln(EXP) ���$����,�������4�
,����������������
������������	���� ���� �� ln(RIFL) � 
������� ! 1st Difference "�#� I(1) ,-��� �$����	��� ) 

� $����,�������4�
,����+$�&����#$,
 
-.���$��� ��*���%�!��	/���
�� ��/� 

ln(GDP) ��8�0		�'&�!�"���')

)0�� (Random Walk with drift) 
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� $����,�������4�
,����

��0$���$�"����,�
��!�"0!���,� ��/� ln(REXR) ��8�
0		�'&�!�"���')

)0�� (Random Walk with drift) 

� $����,�������4�
,����

����,��12� ��*���%�!�()������	�!��	 ��/� 

ln(RIFL) ��8�0		�'&�!�"��������')

)0��0$%�&�0��(�����$� (Random Walk 

Process) 

� $����,�������4�
,����+$�&��������&���� ��/� ln(EXP) ��8�0		�'&�!�"���')

)
0�� (Random Walk with drift) 

  

 )
��
��#$���!)��	�����,"����

�0��!�"*4�*��������� ��-������%�!�1:$,��:��� 
�	�&�$����,�������4�
,����

��)���	�����,��+� ��*���%�!�()������	�!��	 ��/�ln(RLR) 0$%
$����,�������4�
,����+$�&����$�!'�()�
�����
&����%�!� ��/� ln(FDI)�������,"� - �%)
	 

Level ��/� I(0) �3���
	$����,�������4�
,����+$�&����#$,
 
-.���$��� ��*���%�!�
�	/���
�� ��/� ln(GDP), $����,�������4�
,����

��0$���$�"����,�
��!�"0!���,� ��/� ln(REXR), 

$����,�������4�
,����

����,��12� ��*���%�!�()������	�!��	 ln(RIFL) 0$% $����,���
����4�
,����+$�&��������&���� ��/� ln(EXP)�������,"� - 1st Difference ��/� I(1) ()�

�0��
!
����)�%�3�6�!)��	)'$� ���%�%���
&�6� 

 

4.2 ����	�
��������*�+*��'�,��
-��/�+	������ (Cointegration) #��#��05�������	�	'

��	'�	�,*� (Error Correction Mechanisms: ECM) 

 

 ������!)��	 Unit Root Test ���

�0��!�"*4�*��������������%�!�6!�, ���$�9�� 

0$% 1:$,��:��� �	�&������5*4�

�0��!'�

���/"�!3��������������
��
����4,�)'$� ���%�%���
6)� ()��%*4�

�0��!
���,�� 6 

�0��)
��$&������
�� 
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4.2.1 �	���	���
!�� 

���!)��	����������������$&�4�� (Lag Length) ���

�0��!�"����%�� �3���
	
0		�3�$������
�� ()��,���-�����&� Akaike Information Criterion (AIC) Likelihood Ratio Test 

(LR) 0$% Schwartz Bayesian Criterion (SBC) 6)�#$)
�
����!�" 4.4 

"�	����� 4.4 ���������������6�,��: �	���	���
!�� 

 

Lag LR AIC SC 

0 NA -8.981727 -8.717807 

1 305.7534 -17.52495 -15.67751 

2 60.18512 -18.14169 -14.71074 

3 65.94223 -20.02065 -15.00617 

4 64.31660* -23.86761* -17.26962* 

  !�"�� �������3���- 

������
'  * ����5��  ����+$�������,"� - �%)
	�
��3��
<!���5,
,!�" 0.1  

  

 ���
����!�" 4.4 ��/"��,���-�����&� Akaike Information Criterion (AIC) ����������
����$&�4��!�"����%�� (Lag Length) �/� 4 Lag ��/"��,���-�����&� Likelihood Ratio Test (LR) 

��������������$&�4��!�"����%�� (Lag Length) �/� 4 Lag 0$% ��/"��,���-�����&� Schwartz 

Bayesian Criterion (SBC) ��������������$&�4��!�"����%�� (Lag Length) �/� 4 Lag )
��
���%6)�
�&���������������$&�4���/� 4 lag 

 �3���
	�+�0		!�"����%���3���
	��������#$��%!	�������
�!����������
���� ��
9�"���
&��+$�&���,�$�!'�()�
�����
&����%�!� (FDI) *���%�!�6!��
�� �/� �+�0		!�"��!
���&���!�"
��$�*� Lag Length !�" 4 ��/"�����*���&� AIC 0$% SB !�"
"3�!�"�') 

 ����
��!3����!)��	���3���� Cointegrating Vectors �%��&��

�0��()��,�� Eigenvalue 

Trace Statistic ��/� Trace Test 0$% Maximal Eigenvalue Statistic ��/� Max Test 9�"�6)�#$)
�

����!�" 4. 5 0$%
����!�"  4.6  
��$3�)
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"�	����� 4.5 ��	�
������"�8��9� cointegration vector����	���
!�� �
�;,����� Trace 

Test 

 

Null 

Hypothesis 

Alternative 

Hypothesis 
Eigenvalue Trace Statistic 

0.05 Critical 

Value 
Prob.** 

r = 0 r � 1 0.838885 164.3276 95.75366 0.0000 

r � 1 * r � 2 0.612783 96.77911 69.81889 0.0001 

r � 2 * r � 3 0.544345 61.67458 47.85613 0.0015 

r  �  3 r � 4 0.370199 29.59188 29.79707 0.0532 

r  � 4 r � 5 0.339479 15.48485 15.49471 0.0502 

r  � 5 r � 6 0.003776 0.139972 3.841466 0.7083 

!�"���������3���- 

������
'  * ����5��  ����+$�������,"� - �%)
	�
��3��
<!���5,
,!�" 0.05 

 

 ���!)��	 Cointegrating Vectors )����,�� Trace Test 9�"�0�)�)
�
����!�" 4.5 �	�&�
#$��%!	�������
�!��)�����������
���� ��!�"��
&���,�$�!'�()�
�����
&����%�!� (FDI) 

���3���� 4 ����
��� ��/"������&��5,
,!�"�3���-6)� (Trace Statistic) ���&������&��&��,�=
!�"�%)
	
�
��3��
< 0.05 (0.05 Critical Value) )
��
������>,������
,����$
�!�" r = 0 (None) ����
	���
,
������!�" r � 1 ���!3����!)��	
&�6�����%!
"��	�&��&��5,
,!�"�3���-6)��
�����&�������&��&�
�,�=
!�"�%)
	�
��3��
< 0.05 0�)��&�����
	���
,����$
�!�"�&� r � 3 )
��
���&� Cointegrating 

Vectors ������&��!&��
	 3 
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"�	����� 4.6 ��	�
������"�8��9� cointegration vector ����	���
!�� �
����� Max Test 

 

Null 

Hypothesis 

Alternative 

Hypothesis 

Eigenvalue Max Statistic 0.05 Critical 

Value 

Prob.** 

r = 0 r = 1  0.838885  67.54849  40.07757  0.0000 

r � 1 * r = 2  0.612783  35.10453  33.87687  0.0355 

r � 2 * r = 3  0.544345  29.08270  27.58434  0.0319 

r  �  3 r = 4  0.370199  17.10703  21.13162  0.1670 

r  � 4 r = 5  0.339479  15.34488  14.26460  0.0336 

r  � 5 r = 6  0.003776  0.139972  3.841466  0.7083 

!�"���������3���- 

������
'  * ����5��  ����+$�������,"� - �%)
	�
��3��
<!���5,
,!�" 0.05 

 

�3���
	���!)��	 Cointegrating Vectors )����,�� Max Test 9�"�0�)�)
�
����!�" 4.6 

�	�&�#$��%!	�������
�!��)�����������
���� ��!�"��
&���,�$�!'�()�
�����
&����%�!� 

(FDI) ���3���� 3 ����
��� ��/"������&��5,
,!�"�3���-6)� (Max-Eigen Statistic) ���&������&��&�
�,�=
!�"�%)
	�
��3��
< 0.05 (0.05 Critical Value) )
��
������>,������
,����$
�!�" r = 0 (None) 

����
	���
,������!�" r = 1 ���!3����!)��	
&�6�����%!
"��	�&��&��5,
,!�"�3���-6)��
�����&�
������&��&��,�=
!�"�%)
	�
��3��
< 0.05 0�)��&�����
	���
,����$
�!�"�&� r � 3 )
��
���&� 
Cointegrating Vectors ������&��!&��
	 3 

 ���!)��	 Cointegrating Vectors )����,�� Trace Test 0$% Max Test 9�"�0�)�)
�
����!�" 
4.5 0$%
����!�" 4.6 �	�&�#$��%!	�������
�!��)�����������
���� ��!�"��
&���,�$�!'�
()�
�����
&����%�!� (FDI) ���3���� 3 ����
��� 
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"�	����� 4.7 ����	�	���� Cointegration Vector: �	���	���
!�� 

 

  Vector 1 Vector 2 Vector 3* Vector 4 Vector 5 

ln(FDI) 
-0.3901 1.7510 -0.3699 0.7877 0.0656 

-1.0000 -1.0000 -1.0000 -1.0000 -1.0000 

ln(GDP) 
-24.1249 -2.3383 -7.9756 -45.9092 -14.6017 

-61.8389 1.3354 -21.5599 58.2837 222.7527 

ln(REXR) 
-7.6540 3.6157 -0.5140 -41.1104 -20.5686 

-19.6193 2.0650 1.3895 -52.1915 -313.7800 

ln(RIFL) 
46.5733 4.9057 77.1887 -10.4806 -5.1344 

119.3805 -2.8017 208.6587 13.3056 78.3274 

ln(RLR) 
3.8175 3.3526 -5.0635 -7.3148 2.0622 

9.7854 -1.9147 -13.6878 9.2864 -31.4593 

ln(EXP) 
1.8725 -3.8295 -13.2933 29.5953 12.4918 

4.7997 2.1871 -35.9349 -37.5725 -190.5658 
!�"���������3���- 

 ������
':   1.  * �/�����
���!�"�3���*4�*������,	�� �,���-��$/��������/"����������
���%�,!�,?!�"����%��
�
	���
,��� ����
���,���-�#$�����
	

��%�%�
���&����%)
	�
��3��
<��/�6�& 
       2. �
���

����  �/��&��
���%�,!�,?!�"�������
	�&�*���
���%�,!�,?��� FDI��/"��&��0�&�����,	�� 

 

lnFDI t =  -21.5599lnGDP t + 1.3895lnREXR t + 208.6587lnRIFL t -13.6878nRLR t -35.9349EXP t  

 
 ������������
���&��
���%�,!�,?����

�0����������
���� ����,	���&������/)��'&� 

�$&���/�  

� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�+$�&�#$,
 
-.���$���
 ��*���%�!��	/���
�� (GDP) �/� -21.5599 ���������&� ��� GDP ��,"���������$% 1 �%
!3�*�� FDI $)$�()���$�"�����$% 21.5599 ��/"��3���)*������
��/"�7 ��!�" 

� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�

��0$���$�"����,�
��!�"0!���,� 
(REXR) �/� 1.3895 ���������&� ��� REXR ��,"���������$% 1 �%!3�*�� FDI ��,"�����()�
��$�"�����$% 1.3895 ��/"��3���)*������
��/"�7 ��!�" 
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!�"���������3���- 

������
' �
���

���� �/��&��5,
,�������������
	

��%�%�
�� 

� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�

����,��12� ��*���%�!�()�
�����	�!��	 (RIFL) �/� 208.6587 ���������&� ��� RIFL ��,"���������$% 1 �%!3�*�� FDI 

��,"�������$�"�����$% 208.6587 ��/"��3���)*������
��/"�7 ��!�" 
� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�

��)���	�����,��+� ��*���%�!�

()������	�!��	 (RLR) �/� -13.6878 ���������&� ��� RLR��,"���������$% 1 �%!3�*�� FDI 

$)$�()���$�"�����$% 13.6878 ��/"��3���)*������
��/"�7 ��!�" 
� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�+$�&�����&���� (EXP) �/� -

35.9349 ���������&� ��� EXP ��,"���������$% 1 �%!3�*�� FDI $)$�()���$�"�����$% 

35.9349 ��/"��3���)*������
��/"�7 ��!�" 
 

4.1.2 ����	�	*�"*�	����*@�;�	��#����� Error Correction Model (ECM) 

 
���$
������� Granger Representation �$&���&� 5���	�����
��
����4,�)'$� ��*��%�%��� 

�%��&��

�0��!�"�3���!)��	0$�� �%�����5�����0		�3�$�������
	

� ������&� Error Correction 

Model ��/"���,	�������
	

�*��%�%�
�����

�0��
&��7 ��/"�*�������+&)'$� ��*��%�%��� 

 "�	����� 4.8 ��	�	*�"*�	����*@� �	���	���
!�� (Trace Test) 

 Regressor Coefficient Std. Error t-statistic 

ecm1(-1) 8.677979 -7.02958 [ 1.23449] 

emc2(-1) 0.454732 -0.40726 [ 1.11656] 

ecm3(-1) -0.344551 -0.29478 [-1.16885] 

emc4(-1) -0.281872 -0.07641 [-3.68893] 

ecm5(-1) -0.578513 -0.26559 [-2.17821] 

emc6(-1) 0.02544 -0.37077 [ 0.06861] 

 R-squared 0.475144  Log likelihood -53.82868 
 Adj. R-squared 0.413396  Akaike AIC 3.016855 
 Sum sq. resides 36.09411  Schwarz SC 3.230133 
 S.E. equation 1.030336  Mean dependent 0.140286 
 F-statistic 7.694908  S.D. dependent 1.345260 
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���#$��������
	

��%�%�
�����0		�3�$�����&��
���%�,!�,?��������
	

����!'�����
��� 
()����&��
���%�,!�,?��������
	

��������
��� 4 0$% 5 !�"��+&*�4&�� 0 5�� -1 0$%���
��3��
<!��
�5,
,!�"�%)
	 0.05 

 ���
����!�" 4.8 �&������
	

��%�%�
�� (ECM) �������
���!�" 4 (ecm4(-1)) ���&��!&��
	 

 -0.281872 !�"�%)
	�
��3��
< 0.05   ��,	��6)��&�������@�*������
	

�*��%�%�
������+$�&����$�!'�
()�
�����
&����%�!� (FDI) ���&�����$% 28.1872 9�"����������&� ����������$�"��0�$�*)7!�"
!3�*���+$�&�������$�!'�()�
�����
&����%�!� (FDI) ��,)����	�"���	�������)'$� ��*��%�%
��� �+$�&������,�$�!'�*�6
����5
)6��%�������
	

�����$% 28.1872 ()���$�"� ��/"�*���$
	����
�+&)'$� ���%�%��� 

 

4.2 �	���	���
�����$�� 

 

���!)��	����������������$&�4�� (Lag Length) ���

�0��!�"����%�� �3���
	
0		�3�$������
�� ()��,���-�����&� Akaike Information Criterion (AIC) Likelihood Ratio Test 

(LR) 0$% Schwartz Bayesian Criterion (SBC) 6)�#$)
�
����!�" 4.9 

"�	����� 4.9 ���������������6�,�� �	������	���
�����$�� 

Lag LR AIC SBC 

0 NA -16.80926 -16.53444 

1 286.4370 -26.01674 -24.09296 

2 46.25072 -26.20099 -22.62826 

3 56.47908* -28.29554 -23.07385 

4 50.25077 -33.22422* -26.35358* 

 !�"���������3���- 

������
'  1. * �/� �&�AIC, SBC 0$% LR !�")�!�"�') !�"�%�3����3���-
&�6�6)� 
    2.  NA �/����6�&����;�&� LR test *�����3���-�%6�&�3����,���-� 
 

���
����!�" 4.9 ��/"��,���-�����&� Akaike Information Criterion (AIC) ����������
����$&�4��!�"����%�� (Lag Length) �/� 4 Lag ��/"��,���-�����&� Likelihood Ratio Test (LR) 

��������������$&�4��!�"����%�� (Lag Length) �/� 3 Lag 0$% ��/"��,���-�����&� Schwartz 

Bayesian Criterion (SBC) ��������������$&�4��!�"����%�� (Lag Length) �/� 4 )
��
���������
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�������$&�4���� 2 �&� ���
���!3�����,���-��$/���&�!�"����%�������
��  �3 � � �
 	 �+ � 0 		!�"
����%���3���
	��������#$��%!	�������
�!����������
���� ��9�"���
&��+$�&���,�$�!'�
()�
�����
&����%�!� (FDI) *���%�!�6!��
�� �/� �+�0		!�"��!
���&���!�"��$�*� Lag Length!�" 3 

��/"�����*���&� AIC 0$% SB !�"
"3�!�"�') 

 ����
��!3����!)��	���3���� Cointegrating Vectors �%��&��

�0��()��,�� Eigenvalue 

Trace Statistic ��/� Trace Test 0$% Maximal Eigenvalue Statistic ��/� Max Test 9�"�6)�#$)
�

����!�" 4.10 0$%
����!�" 4.11 
��$3�)
	 

 

"�	����� 4.10 ��	�
������"�8��9� cointegration vector ����	���
�����$�� �
����� Trace Test 

 

Null 

Hypothesis 

Alternative 

Hypothesis 

Eigenvalue Trace Statistic 0.05 Critical 

Value 

Prob.** 

r = 0 r � 1  0.829804  168.3859  95.75366  0.0000 

r � 1 * r � 2  0.812830  109.9493  69.81889  0.0000 

r � 2 * r � 3  0.567702  54.64997  47.85613  0.0101 

r  �  3 r � 4  0.403007  26.97481  29.79707  0.1022 

r  � 4 r � 5  0.188398  9.951771  15.49471  0.2845 

r  � 5 r � 6  0.088645  3.063166  3.841466  0.0801 

!�"���������3���- 

������
'  * ����5��  ����+$�������,"� - �%)
	�
��3��
<!���5,
,!�" 0.05 

 

 

���!)��	 Cointegrating Vectors )����,�� Trace Test 9�"�0�)�)
�
����!�" 10 �	�&�
#$��%!	�������
�!��)�����������
���� ��!�"��
&���,�$�!'�()�
�����
&����%�!� (FDI) 

���3���� 3 ����
��� ��/"������&��5,
,!�"�3���-6)� (Trace Statistic) ���&������&��&��,�=
!�"�%)
	
�
��3��
< 0.05 (0.05 Critical Value) )
��
������>,������
,����$
�!�"  (None) ����
	���
,
������!�"  ���!3����!)��	
&�6�����%!
"��	�&��&��5,
,!�"�3���-6)��
�����&�������&��&�
�,�=
!�"�%)
	�
��3��
< 0.05 0�)��&�����
	���
,����$
�!�"�&� r �   3  )
��
���&� Cointegrating 

Vectors ������&��!&��
	 3 
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"�	����� 4.11 ��	�
������"�8��9� Cointegration vector ����	���
�����$�� �
����� Max Test 

 

Null 

Hypothesis 

Alternative 

Hypothesis 

Eigenvalue Max Statistic 0.05 Critical 

Value 

Prob.** 

r = 0 r = 1  0.829804  58.43651  40.07757  0.0002 

r � 1 * r = 2  0.812830  55.29938  33.87687  0.0000 

r � 2 * r = 3  0.567702  27.67516  27.58434  0.0487 

r  �  3 r = 4  0.403007  17.02304  21.13162  0.1709 

r  � 4 r = 5  0.188398  6.888605  14.26460  0.5024 

r  � 5 r = 6  0.088645  3.063166  3.841466  0.0801 

!�"���������3���- 

������
'  * ����5��  ����+$�������,"� - �%)
	�
��3��
<!���5,
,!�" 0.05 

  

 �3���
	���!)��	 Cointegrating Vectors )����,�� Max Test 9�"�0�)�)
�
����!�" 4.11 

�	�&�#$��%!	�������
�!��)�����������
���� ��!�"��
&���,�$�!'�()�
�����
&����%�!� 

(FDI) ���3���� 3 ����
��� ��/"������&��5,
,!�"�3���-6)� (Max-Eigen Statistic) ���&������&��&�
�,�=
!�"�%)
	�
��3��
< 0.05 (0.05 Critical Value) )
��
������>,������
,����$
�!�"  (None) 

����
	���
,������!�" r = 1 ���!3����!)��	
&�6�����%!
"��	�&��&��5,
,!�"�3���-6)��
�����&�
������&��&��,�=
!�"�%)
	�
��3��
< 0.05 0�)��&�����
	���
,����$
�!�"�&� r � 3 )
��
���&� 
Cointegrating Vectors ������&��!&��
	 3 

 ���!)��	 Cointegrating Vectors )����,�� Trace Test 0$% Max Test 9�"�0�)�)
�
����!�" 
5 0$%
����!�" 6 �	�&�#$��%!	�������
�!��)�����������
���� ��!�"��
&���,�$�!'�()�
��
���
&����%�!� (FDI) ���3���� 3 ����
��� 
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"�	����� 4.12 ����	�	���� cointegration vector: �	������	���
�����$�� 

 

  Vector 1 Vector 2 Vector 3* Vector 4 Vector 5 

ln(FDI) 
0.7492 2.0837 3.4200 -3.0128 1.4001 

-1.0000 -1.0000 -1.0000 -1.0000 -1.0000 

ln(GDP) 
89.4448 103.2609 27.2165 3.6965 -45.1464 

-119.3939 -49.5562 -7.9580 1.2269 32.2448 

ln(REXR) 
122.3320 5.7737 91.5435 -43.0806 16.6072 

-163.2929 -2.7709 -26.7669 -14.2990 -11.8613 

ln(RIFL) 
-211.4995 -303.9624 -22.6104 -80.4217 90.6780 

282.3167 145.8754 6.6112 -26.6929 -64.7648 

ln(RLR) 
22.1524 9.8237 19.8326 6.2870 -19.5478 

-29.5698 -4.7145 -5.7990 2.0867 13.9616 

ln(EXP) 
-42.2563 -50.4192 -14.7098 15.1901 27.8558 

56.4051 24.1968 4.3011 5.0418 -19.8954 
  

!�"���������3���- 

 ������
':   1.  * �/�����
���!�"�3���*4�*������,	�� �,���-��$/��������/"����������
���%�,!�,?!�"����%��
�
	���
,��� ����
���,���-�#$�����
	

��%�%�
���&����%)
	�
��3��
<��/�6�& 
       2. �
���

����  �/��&��
���%�,!�,?!�"�������
	�&�*���
���%�,!�,?��� FDI��/"��&��0�&�����,	�� 

 

 �����0�)������
��
���*��%�%����%��&����,�$�!'�()�
�����
&����%�!� (FDI) 

*���%�!����$�9��0$%����
�!��)�����������
���� ���/� 

 

lnFDI t =  - 7.9580lnGDP t -26.7669lnREXR t + 6.6112lnRIFL t – 5.7990InRLR t +4.3011EXP t 

 
 ������������
���&��
���%�,!�,?����

�0����������
���� ����,	���&������/)��'&� 

�$&���/�  
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� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�+$�&�#$,
 
-.���$���
 ��*���%�!��	/���
�� (GDP) �/� -7.9580 ���������&� ��� GDP ��,"����� ����$%1 �%
!3�*�� FDI $)$�()���$�"�����$% 7.9580  ��/"��3���)*������
��/"�7 ��!�" 

� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�

��0$���$�"����,�
��!�"0!���,� 
(REXR) �/� -26.7669 ���������&� ��� REXR ��,"���������$% 1 �%!3�*�� FDI $)$�()�
��$�"�����$% 26.7669 ��/"��3���)*������
��/"�7 ��!�" 

� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�

����,��12� ��*���%�!�()�
�����	�!��	 (RIFL) �/� 6.6112 ���������&� ��� RIFL ��,"���������$% 1 �%!3�*�� FDI 

��,"�����()���$�"�����$%6.6112 ��/"��3���)*������
��/"�7 ��!�" 
� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�

��)���	�����,��+�

 ��*���%�!�()������	�!��	 (RLR) �/� -5.7990 ���������&� ��� RLR ��,"���������$% 

1 �%!3�*�� FDI $)$�()���$�"� ����$%5.7990 ��/"��3���)*������
��/"�7 ��!�" 
� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�+$�&�����&���� (EXP) �/� 

0.01391 ���������&� ��� EXP ��,"���������$% 1 �%!3�*�� FDI ��,"�����()���$�"� ����$%
4.3011 ��/"��3���)*������
��/"�7 ��!�" 
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!�"���������3���- 

������
' �
���

���� �/��&��5,
,�������������
	

��%�%�
�� 

����	�	*�"*�	����*@�;�	��#����� Error Correction Model (ECM) 

 

 
���$
������� Granger Representation �$&���&� 5���	�����
��
����4,�)'$� ��*��%�%��� 

�%��&��

�0��!�"�3���!)��	0$�� �%�����5�����0		�3�$�������
	

� ������&� Error 

Correction Model ��/"���,	�������
	

�*��%�%�
�����

�0��
&��7 ��/"�*�������+&)'$� ��*�
�%�%��� 

 "�	����� 4.13 ��	�	*�"*�	����*@��	���	���������$�� 

 

  Coefficient Std. Error t-statistic 

ecm1(-1) -0.784786 (0.18143) [-4.32549] 

emc2(-1) -7.715506 (4.37892) [-1.76197] 

ecm3(-1) -3.865077 (5.52374) [-0.69972] 

 R-squared 0.391886  Log likelihood -24.51809 
 Adj. R-squared 0.333037  Akaike AIC 1.629605 
 Sum sq. resids 8.318689  Schwarz SC 1.807359 
 S.E. equation 0.518020  Mean dependent 0.069941 
 F-statistic 6.659107  S.D. dependent 0.634301 

 

 

 

 

 ���
����!�" 4.13 �&������
	

��%�%�
�� (ECM) �������
���!�" 1 (ecm 1(-1)) ���&��!&��
	 

 -0.784786 !�"�%)
	�
��3��
< 0.05 ��,	��6)��&�������@�*������
	

�*��%�%�
������+$�&����
$�!'�()�
�����
&����%�!� (FDI) �����%!����$�9�����&�����$% 78.4786 9�"����������&� 
����������$�"��0�$�*)7!�"!3�*���+$�&�������$�!'�()�
�����
&����%�!� (FDI) �����%�!�
���$�9����,)����	�"���	�������)'$� ��*��%�%��� �+$�&������,�$�!'�*�6
����5
)6��%��
�����
	

�����$% 78.4786 ()���$�"� ��/"�*���$
	�����+&)'$� ���%�%��� 
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4.3 �	���	���
%&����&��' 

���!)��	����������������$&�4�� (Lag Length) ���

�0��!�"����%�� �3���
	
0		�3�$������
�� ()��,���-�����&� Akaike Information Criterion (AIC) Likelihood Ratio Test 

(LR) 0$% Schwartz Bayesian Criterion (SBC) 6)�#$)
�
����!�" 4.14 

 

"�	����� 4.14 ���������������6�,�� �	������	���
%&����&��' 

 

 Lag LR AIC SBC 

0 NA  -6.072367 -5.808447 

1  312.8414 -14.86 -13.01256 

2  44.86328 -14.81058 -11.37962 

3  52.35189 -15.8901 -10.87562 

4   76.53550*  -20.84787*  -14.24988* 

  

!�"���������3���- 

������
'  1. * �/� �&�AIC, SBC 0$% LR !�")�!�"�') !�"�%�3����3���-
&�6�6)� 
    2.  NA �/����6�&����;�&� LR test *�����3���-�%6�&�3����,���-� 

 

  ���
����!�" 4.14 ��/"��,���-�����&� Akaike Information Criterion (AIC) ����������
����$&�4��!�"����%�� (Lag Length) �/� 4 Lag ��/"��,���-�����&� Likelihood Ratio Test (LR) 

��������������$&�4��!�"����%�� (Lag Length) �/� 4 Lag 0$% ��/"��,���-�����&� Schwartz 

Bayesian Criterion (SBC) ��������������$&�4��!�"����%�� (Lag Length) �/� 4 )
��
���������
�������$&�4�����&� �!&��
	 4 

  �3���
	�+�0		!�"����%���3���
	��������#$��%!	�������
�!����������
���� ��
9�"���
&��+$�&���,�$�!'�()�
�����
&����%�!� (FDI) *���%�!�6!��
�� �/� �+�0		!�"��!
���&���!�"
��$�*� Lag Length!�" 4 ��/"�����*���&� AIC 0$% SB !�"
"3�!�"�') 

 ����
��!3����!)��	���3���� Cointegrating Vectors �%��&��

�0��()��,�� Eigenvalue 

Trace Statistic ��/� Trace Test 0$% Maximal Eigenvalue Statistic ��/� Max Test 9�"�6)�#$)
�

����!�" 4.15 0$%
����!�" 4.16 
��$3�)
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"�	����� 4.15 ��	�
������"�8��9� cointegration vector ����	���
%&����&��' �
����� Trace 

Test 

 

Null 

Hypothesis 

Alternative 

Hypothesis 

Eigenvalue Trace 

Statistic 

0.05 Critical 

Value 

Prob.** 

r = 0 r � 1  0.862634  165.3997  95.75366  0.0000 

r � 1 * r � 2  0.637330  89.96561  69.81889  0.0006 

r � 2 * r � 3  0.465272  51.42366  47.85613  0.0223 

r  �  3 r � 4  0.324085  27.63577  29.79707  0.0870 

r  � 4 r � 5  0.244767  12.75161  15.49471  0.1242 

r  � 5 r � 6  0.053364  2.083925  3.841466  0.1489 

!�"���������3���-  

������
'  * ����5��  ����+$�������,"� - �%)
	�
��3��
<!���5,
,!�" 0.05 

 

���!)��	 Cointegrating Vectors )����,�� Trace Test 9�"�0�)�)
�
����!�" 4.15 �	�&�
#$��%!	�������
�!��)�����������
���� ��!�"��
&���,�$�!'�()�
�����
&����%�!� (FDI) 

���3���� 3 ����
��� ��/"������&��5,
,!�"�3���-6)� (Trace Statistic) ���&������&��&��,�=
!�"�%)
	
�
��3��
< 0.05 (0.05 Critical Value) )
��
������>,������
,����$
�!�"  (None) ����
	
���
,������!�" r � 1  ���!3����!)��	
&�6�����%!
"��	�&��&��5,
,!�"�3���-6)��
�����&�����
��&��&��,�=
!�"�%)
	�
��3��
< 0.05 ��/� �&� Trace Statistic ���&�������&� 0.05 Critical Value 0�)�
�&�����
	���
,����$
� 0$%���
����!�" 15 0�)�*����@��&� 6�&�����5�;,������
,����$
� 

 6)� ���!3�*�������5��'�6)��&� Cointegrating Vectors ������&��!&��
	 3 
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"�	����� 4.16 ��	�
������"�8��9� cointegration vector ����	���
%&���&��' �
����� Max Test 

 

Null 

Hypothesis 

Alternative 

Hypothesis 

Eigenvalue Max 

Statistic 

0.05 Critical 

Value 

Prob.** 

r = 0 r = 1  0.862634  75.43406  40.07757  0.0000 

r � 1 * r = 2  0.637330  38.54196  33.87687  0.0129 

r � 2 * r = 3  0.465272  28.78789  27.58434  0.0423 

r  �  3 r = 4  0.324085  14.88416  21.13162  0.2971 

r  � 4 r = 5  0.244767  10.66769  14.26460  0.1717 

r  � 5 r = 6  0.053364  2.083925  3.841466  0.1489 

!�"���������3���- 

������
'  * ����5��  ����+$�������,"� - �%)
	�
��3��
<!���5,
,!�" 0.05 

 

 ���!)��	 Cointegrating Vectors )����,�� Max Test 9�"�0�)�)
�
����!�" 4.16 �	�&�
#$��%!	�������
�!��)�����������
���� ��!�"��
&���,�$�!'�()�
�����
&����%�!� (FDI) 

���3���� 3 ����
��� ��/"������&��5,
,!�"�3���-6)� (Max Statistic) ���&������&��&��,�=
!�"�%)
	
�
��3��
< 0.05 (0.05 Critical Value) )
��
������>,������
,����$
�!�"  (None) ����
	
���
,������!�" r = 1 ���!3����!)��	
&�6�����%!
"��	�&��&��5,
,!�"�3���-6)��
�����&�������&�
�&��,�=
!�"�%)
	�
��3��
< 0.05 ��/� �&� Trace Statistic ���&�������&� 0.05 Critical Value 0�)��&�
����
	���
,����$
� 0$%���
����!�" 15 0�)�*����@��&� 6�&�����5�;,������
,����$
� 

 (At most 3) 6)� ���!3�*�������5��'�6)��&� Cointegrating Vectors ������&��!&��
	 3 

 ���!)��	 Cointegrating Vectors )����,�� Trace Test 0$% Max Test 9�"�0�)�)
�
����!�" 
4.15 0$%
����!�" 4.16 �	�&�#$��%!	�������
�!��)�����������
���� ��!�"��
&���,�$�!'�
()�
�����
&����%�!� (FDI) ���3���� 3 ����
��� 
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"�	����� 4.17 ����	�	���� cointegration vector: �	���	���
%&����&��' 

 

  Vector 1 Vector 2 Vector 3* Vector 4 Vector 5 

Ln(FDI) 
-0.2296 -0.1806 0.9732 -0.4649 -0.0271 

-1.0000 -1.0000 -1.0000 -1.0000 -1.0000 

ln(GDP) 
11.0396 -21.4315 2.3670 15.6236 9.9770 

48.0764 -118.6598 -2.4323 33.6040 367.9497 

ln(REXR) 
7.0320 -23.5980 1.4305 10.3493 -1.8603 

30.6237 -130.6550 -1.4699 22.2597 -68.6071 

ln(RIFL) 
-25.7267 38.6523 -12.0621 -27.2376 -13.0650 

-112.0373 214.0062 12.3948 -58.5839 -481.8374 

ln(RLR) 
1.1909 -8.8227 -3.1391 -8.1852 0.8086 

5.1861 -48.8488 3.2256 -17.6051 29.8223 

ln(EXP) 
-1.2615 -2.0921 0.2904 -4.9401 1.1441 

-5.4936 -11.5836 -0.2984 -10.6254 42.1935 
!�"���������3���- 

 ������
':   1.  * �/�����
���!�"�3���*4�*������,	�� �,���-��$/��������/"����������
���%�,!�,?!�"����%��
�
	���
,��� ����
���,���-�#$�����
	

��%�%�
���&����%)
	�
��3��
<��/�6�& 
       2. �
���

����  �/��&��
���%�,!�,?!�"�������
	�&�*���
���%�,!�,?��� FDI��/"��&��0�&�����,	�� 

 

 �����0�)������
��
���*��%�%����%��&����,�$�!'�()�
�����
&����%�!� (FDI) 

*���%�!�1:$,��:���0$%����
�!��)�����������
���� ���/� 

 

 
 
 ������������
���&��
���%�,!�,?����

�0����������
���� ����,	���&������/)��'&� 

�$&���/�  

� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�+$�&�#$,
 
-.���$���
 ��*���%�!��	/���
�� (GDP) �/� -2.4323 ���������&� ��� GDP ��,"����� ����$% 1 �%
!3�*�� FDI $)$�()���$�"� ����$% 2.4323 ��/"��3���)*������
��/"�7 ��!�" 
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� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�

��0$���$�"���,�
��!�"0!���,� 

(REXR) �/� -1.4699 ���������&� ��� REXR ��,"����� ����$% 1 �%!3�*�� FDI $)$�()�
��$�"�����$% 1.4699 ��/"��3���)*������
��/"�7 ��!�" 

� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�

����,��12� ��*���%�!�()�
�����	�!��	 (RIFL) �/� 12.3948 ���������&� ��� RIFL ��,"����� ����$% 1 �%!3�*�� FDI 

��,"�����()���$�"�����$% 12.3948 ��/"��3���)*������
��/"�7 ��!�" 
� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�

��)���	�����,��+�

 ��*���%�!�()������	�!��	 (RLR) �/� 3.2256 ���������&� ��� RLR ��,"���������$% 

1 �%!3�*�� FDI ��,"�����()���$�"�����$% 3.2256  ��/"��3���)*������
��/"�7 ��!�" 
� �+$�&����$�!'����
&����%�!� (FDI) ��/"������	�!��	�
	�+$�&�����&���� (EXP) �/� -

0.2984 ���������&� ��� EXP ��,"����� ����$% 1�%!3�*�� FDI $)$�()���$�"�����$% 

0.2984  ��/"��3���)*������
��/"�7 ��!�" 
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!�"���������3���- 

������
' �
���

���� �/��&��5,
,�������������
	

��%�%�
�� 

����	�	*�"*�	����*@�;�	��#����� Error Correction Model (ECM) 

 
���$
������� Granger Representation �$&���&� 5���	�����
��
����4,�)'$� ��*��%�%��� 

�%��&��

�0��!�"�3���!)��	0$�� �%�����5�����0		�3�$�������
	

� ������&� Error 

Correction Model ��/"���,	�������
	

�*��%�%�
�����

�0��
&��7 ��/"�*�������+&)'$� ��*�
�%�%��� 

 "�	����� 4.18 ��	�	*�"*�	����*@������	���	���
%&����&��' 

 

  Coefficient Std. Error t-statistic 

ecm1(-1)  0.024946  (0.08230) [ 0.30313] 

emc2(-1) -3.743728  (11.1724) [-0.33509] 

ecm3(-1) -0.400076  (0.23541) [-1.69947] 

ecm4(-1) -0.302235  (0.20301) [-1.48879] 

 R-squared  0.465625  Log likelihood -61.26564 
 Adj. R-squared  0.125568  Akaike AIC  4.122467 
 Sum sq. resids  59.42393  Schwarz SC  4.775542 
 S.E. equation  1.643499  Mean dependent -0.065615 

 F-statistic  1.369254  S.D. dependent  1.757544 
 

  

 

���
����!�" 4.18 �&������
	

��%�%�
�� (ECM) �������
���!�" 1 (ecm 3(-1)) ���&��!&��
	 

 -0.400076 !�"�%)
	�
��3��
< 0.05 ��,	��6)��&�������@�*������
	

�*��%�%�
������+$�&����$�!'�
()�
�����
&����%�!� (FDI) �����%!����$�9�����&�����$% 40.00076 9�"����������&� �����
�����$�"��0�$�*)7!�"!3�*���+$�&�������$�!'�()�
�����
&����%�!� (FDI) �����%�!�
���$�9����,)����	�"���	�������)'$� ��*��%�%��� �+$�&������,�$�!'�*�6
����5
)6��%��
�����
	

�����$% 40.00076 ()���$�"� ��/"�*���$
	�����+&)'$� ���%�%��� 

 

 ��'������0�)������
��
����%�%������$����,�������4�
,����+$�&����$�!'�
()�
�����
&����%�!�0$%����
�!����������
��!�"���"������ 0$%�����
	

��%�%�
�����
��%�!�6!� ���$�9�� 0$%1:$,��:��� 
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 "�	����� 4.19 �	-������*�+*��'	���������#"6���	���
 

 

  !�� �����$�� %&����&��' 

ln(FDI) -0.3699 3.4200 0.9732 

-1.0000 -1.0000 -1.0000 
ln(GDP) -7.9756 27.2165 2.3670 

-21.5599 -7.9580 2.4323 
ln(REXR) -0.5140 91.5435 1.4305 

1.3895 -26.7669 1.4699 
ln(RIFL) 77.1887 -22.6104 -12.0621 

208.6587 6.6112 -12.3948 
ln(RLR) -5.0635 19.8326 -3.1391 

-13.6878 -5.7990 -3.2256 
ln(EXP) -13.2933 -14.7098 0.2904 

-35.9349 4.3011 0.2984 
  !�"���������3���- 
 
 ���
����!�" 4.19 0�)�����������
��
����%�%����������
�$����,�������4�
,���
�+$�&����$�!'�()�
�����
&����%�!��
	����
�!����������
���/"�7 �����%�!�6!� ���$�9��
0$%1:$,��:��� ()��&��
���%�,!�,?��������
�!����������
��
&��*���&������/)��'&� �	�&��

��
��,��12� ��*���%�!�()������	�!��	�����%�!�6!��&�#$
&��+$�&����$�!'�()�
�����

&����%�!����!�"�') �
"��/� ����

����,��12� ��*���%�!�()������	�!��	 ��,"���������$% 1 �%
�&�#$*���+$�&����$�!'�()�
�����
&����%�!���,"�����()���$�"�����$% 208.65 ��-��3���)*��
����
��/"�7��!�"  
 �3���
	��-������%�!����$�9���	�&��

��0$���$�"����,�
��()������	�!��	���,!�,�$

&��+$�&����$�!'�()�
�����
&����%�!����!�"�') �
"��/� ����

��0$���$�"����,�
��()�
�����	�!��	 ��,"���������$% 1 �%�&�#$
&��+$�&����$�!'�()�
�����
&����%�!�$)$���$�"�����$% 

26.77 ()��3���)*������
��/"�7��!�" 
 0$%��-������%�!�1:$,��:��� �	�&��

����,��12� ��*���%�!�()������	�!��	���
��%�!�6!��&�#$
&��+$�&����$�!'�()�
�����
&����%�!����!�"�') �
"��/� ����

����,��12�
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 ��*���%�!�()������	�!��	 ��,"����� ����$%1 �%�&�#$*���+$�&����$�!'�()�
�����

&����%�!�$)$�()���$�"� ����$%12.39  ��-��3���)*������
��/"�7��!�"  
 

"�	����� 4.20 �	-���	�	*�"*�	����*@����#"6���	���
 

 

 !�� �����$�� %&����&��' 

��	�	*�"*�	����*@� -0.28187 -0.78479 -0.40008 

  !�"���������3���- 
  

�����
	

��%�%�
���������+$�&����$�!'�()�
�����
&����%�!� (FDI) ���!
�� 3 

��%�!��	�&���%�!����$�9�����

�������
	

���/"������+&)'$� ���%�%�����)��@�!�"�') �/� 

��%��- ����$% 78.48  ���$����/���%�!�1:$,��:��� ��%��-����$%  40.01 0$%��%�!�6!���
�

�������
	

���%��-����$% 28.19   


